Covid19 Emergency Appeal-Sri Lanka





## ASAD Covid19 Emergency Relief

**Bank You May Donate:** 

Account Name : ASAD Foundation Account Number: 0010 282276001 Bank Name : AMANA Bank Swift Code : AMNALKLX

Association of Social Activities Development Sri Lanka (ASAD)

WhatsApp: 0094 775282249 Email: asadfoundation.lk@gmail.com



ASAD Covid19 Emergency Relief

WhatsApp: 0094 775282249

Email: asadfoundation.lk@gmail.com

Mobile: +947 11 89 11 89/ Phone: +94 352259198

https://asadfoundationlk0.wixsite.com/asadfoundationlanka Office: 84/A-1, Moragammana, Aranayaka. Sri Lanka.

# Covid19 Emergency Appeal Donate Now At least 1 Pack

Call for assistance to continue the ongoing COVID19 Hunger and Poverty Alleviation Program

# Campaign objective Distribution of Food Aid & Hygiene Pack

This appeal is to support 10000 the most vulnerable families in the rural areas of identified affected and those are especially the poor women-headed households and the breadwinners are facing hardships.

The crisis with fear increasing among Sri Lankan society since the COVID -19 corona virus infections has risen to 935 as on 15.05.2020 and further health promotion bureau stated that there are active cases 449 individuals are under observation and receiving treatment at hospitals.

The Governments of SriLanka urged for gradual self-isolation and social distancing through stay home and stay safe operation from March 2020 by closing the schools and universities. The seriousness of the pandemic brought out when the government declared a continue and step by step on the government imposed a countrywide curfew. And the ongoing curfew will be extended as per the government's instruction.

The locked down and on-going curfews have impacted significantly on the daily wage workers and rural poor. The rural migrant workers and seasonal laborers are set back to the villages with their families. These daily wage workers are suffering a lot with no income, no works as people stay home and no interaction allowed and markets shutting down.

This appeal is to support 10000 the most vulnerable families in the rural areas of identified affected and those are especially the poor women-headed households and the breadwinners are facing hardships, without alternative source income such market sellers, fishermen, construction laborers, brick makers, pavement shop keepers etc. In we identified rural populations are fishing and agriculture, farming and related labor families and they face the on-going crisis with a lot of panic and scarcity without enough alternate income and the burden of household financial instability.

Above 75% of the population are the inhabitants of rural villages in the SriLanka, whereas poor rural households have less capacity to cope economically with the consequences of this outbreak and they are vulnerable who have less capacity to reach medical care, and the healthcare system are limited in remote areas.

### COVID19-STAY AT HOME SAVE LIVES

#### Purpose of this important Appeal:

- (1) ASAD /HROP Relief Sri Lanka is trying to raise funds to support 10000 the daily wagers who lost their livelihood and need some money to survive this pandemic period, till things get better around in Sri Lanka.
- (2) Providing 3500 hygiene prevention kit to the most vulnerable people in the remote areas of SriLanka.

### **Project Implementation Plan:**

ASAD /HROPD Relief- Sri Lanka will be executing this emergency mission for the distribution of food Pack with the support of government institutions (local authority) and are District Secretariat, Divisional Secretariats, Sri Lanka Police and Sri Lankan Army. This intervention will be organized in adhere to the government instructions and COVID contagion concerns.

- (1) The beneficiaries list will be given by the divisional secretaries with the grassroots concern of Grama Niladhari, Economic Development Officer, and Samurdhi Officers as per the eligible selection criteria.
- (2) Procurement and packaging of 1000 emergency food ration items that contains the basic and enough food items to cover at least two weeks such as Rice, Flour, Cooking Oil, Biscuits, Dry Fish, Daal and Tin Fish.
- (3) Procurement and packaging of hygienic prevention kit that contains of toilet soap, hand wash liquids, glouse, masks etc
- (4) Distribution to a household with the support of Village Economic development officer, Police/ Army since the gathering is not advisable
- (5) Final report, video documentary, news article, television news, etc with donor visibility also submit to the donors



# Help Those in Need At Home To Protect Everyone From The Covid19





















**Budget More Details Below:-**

### **BUDGET**

#### COVID 19 VIRUS EFECTED IN SRI LANKA DRY FOOD RELIEF PROGRAM FOR MOSTLY EFFECTED 10,000 FAMILIES IN SRI LANKA FOR

#### TWO MONTHS.

N O	FOODS	UNIT	QUANTITY	RATE Rs.	TOTAL AMOUNT	GRAND TOTAL	
1	Rice (20Kg 4 bags)	Kg.	80.00	130	Rs. 10,400.00		
2	Dall (6Kg)	Kg.	6.00	170	1,020.00		
3	Sugar (1 Kg 4 packs)	Kg.	4.00	120	480.00		
	eagar (1 rtg 1 paone)	Pks	1.00	120	100.00		
4	Tea (500g 2 packs)		2.00	650	1,300.00		
	Milk powder packet (1Kg 4	Pks					
5	Packs)		2.00	945	1,890.00		
6	Flour (4Kg)	Kg.	4.00	120	480.00		
7	Rice Flour (1 Kg 4 packs)	Kg.	4.00	150	600.00		
8	Salt (1 Kg 2 packs)	Kg.	2.00	80	160.00		
9	Fish Tin (400g 10 tins)	Tin.	10.00	280	2,800.00		
10	Dry fish 2 Kg	Kg.	2.00	620	1,240.00		
11	B' Onion 4Kg	Kg.	4.00	230	920.00		
12	Potato 4 Kg	Kg.	4.00	160	640.00		
13	Garlic (250g 2 packs)	Pks	2.00	180	360.00		
14	Curry powder (250g 4 packs)	Pks	4.00	200	800.00		
15	Chili Powder (250g 4 packs)	Pks	4.00	225	900.00		
16	Soya (1Kg 2 packs)	Kg.	2.00	800	1,600.00		
17	Noodles Packs	Pks	8.00	125	1,000.00		
18	Coconut oil (500ml 2 bottles)	Bott	2.00	400	800.00		
19	Coconut Nut	Nut.	20.00	90	1,800.00		
		Ite					
20	Siddalepa/ Panadol etc.	m	1.00	1500	1,500.00		
	Total cost for One Family				30,690.00		
	Handling, Packing &				0.400.00		
	Transports 20%				6,138.00		
	Total				36,828.00		
	Cost of 10,000 Families for 2 Months		10 000 00		26 020 00	368,280,000. 00	
Months   10,000.00   36,828.00							
Rs.) 1,841,400.00							

1,841,400.00

	It is a time to link as a network to share information on COVID 19 and support the							
	training, counseling, motivations programs taking place around the SriLanka.							
N O	ACTIVITIES	UNIT	QUANTIT Y	RATE Rs.	TOTAL AMOUNT Rs.	GRAND TOTAL		
1	Training, counseling, motivations programs.	Ite m	250	35,000.00	8,750,000.00			
2	Safety dress for Doctors & Nurses	Ite m	10000	3,000.00	30,000,000.00			
3	Masks (N95)	Ite m	10000	150.00	1,500,000.00			
4	Surgical Gloves (100 nos pack)	Ite m	100	3,000.00	300,000.00			
	Total cost Handling, Packing & Transports 10%				40,661,984.00 4,066,198.40			
	Total				44,728,182.40	44,728,182.40		
	Total in \$ USD (1 USD\$= 200 Rs.)							

	RESETTLE LIFE PROJECT					
N O	ACTIVITIES	UN T	QUAN TITY	RATE Rs.	TOTAL AMOUNT Rs.	GRAND TOTAL
1	Providing of home Gardens (Aim nutritional food products) 100 groups (each group 10 familes)	Families	1000	25,000.00	25,000,000.00	
2	Providing training of cottage industries self-emploiment 100 groups (each group 10 familes)	Families	1000	10,000.00	10,000,000.00	
3	Providing of cottage industries self-emploiment revolvong loans for 200 familes.	Families	200	200,000.00	40,000,000.00	
4	Emergency loans help for three-wheeler drivers 200.	Families	200	50,000.00	10,000,000.00	
5	To creating "Animal Husbandry Bank" to setup 100 Gots Rs. 15000 x 100 and got cage Rs. 50000 with transport. Maintaining a Goat farm for kids unit rated 6 months based to expand the base beneficiaries.	Families	100	65,000.00	6,500,000.00	
6	Establishment of small model poultry hatcher production unit and using egg incubator.  Total cost	Families	20	60,000.00	1,200,000.00 182,156,364.8 0	182,156,364.8 0

7	Project management for above resettle life project (3 months monitoring).							
а	Program Director		6	210,000.00	1,260,000.00			
b	Field Resources contribution							
	coordinator		6	120,000.00	720,000.00			
С	Project manager		6	180,000.00	1,080,000.00			
d	Driver / messenger		6	135,000.00	810,000.00			
е	Transportation / traveling		6	60,000.00	360,000.00			
f	7 field office centers / maintain		7	150,000.00	1,050,000.00			
g	Communications		6	15,000.00	90,000.00			
h	2 Residential office centers		6	180,000.00	1,080,000.00			
i	Monitoring, maintaining,							
	evaluation and progress							
	(meetings, traveling, field visit, Resources contributing,							
	authorities and							
	communicating)		6	180,000.00	1,080,000.00			
	Total cost			,	7,530,000.00	7,530,000.00		
	Grand Total				, , , , , ,	189,686,364.8		
						0		
	Total in \$ USD (1 USD\$= 200							
	Rs.)					948,431.82		